Lithuanian Informatics Olympiad

National Round (2) e 24 March 2018 e Grades VIII-XII sauga-vyr

Fire drill

During a fire drill NV buildings will be evacuated. Safety regulations
require some buildings be evacuated sooner than others. More pre-
cisely, each building has a document that lists the buildings that
should be evacuated before it. Each time a building is evacuated
before at least one building in its document, one penalty is given.

Task. Design an evacuation plan that minimises the number of §
penalties. -~

Input. In the first line, three numbers are given: test number T,
number of buildings N, and critical number of faults S (see ‘Evaluation’). Buildings are
numbered 1 through N.

The remaining N lines indicate which buildings should be evacuated sooner than others: in
the i-th of these lines, the first number is the number of buildings contained in the document
of building ¢, and it is followed by the numbers of the buildings in that list.

No pair of buildings are in each other’s list. Also, no building is in its own list and no list
contains repeated numbers.

Output. The output must consist of N numbers, each written on a separate line. These
numbers show the order of evacuation: the building whose number appears on the first line
will be evacuated first, then the building whose number is on the second line, and so on).
Each building must be evacuated exactly once.

Scoring. There is no grouping of testcases in this task. There are ten tests in total, worth
ten points each. The amount of points awarded for the test depends on the number of faults
P in your solution and the critial fault limit S assigned to that test. If P < S you will be
awarded ten points, and if P = N — 1 you will be awarded zero points. In between, your score
linearly depends on the ratio S/P: the larger it is, the more points you get.

Points are rounded to one decimal place.

Examples.

Input Output Comments

041 4 This is only a sample test. Actual tests are

223 1 numbered 1 through 10 and N = 1000 for

0 2 all tests. Faults are called when buildings 4

14 3 and 1 are evacuated, and so the ratio S/P

11 equals 1/2. Since full points are given for
ratio 1 and zero points — for ratio 1/999, af-
ter rounding this answer would be awarded
five points.

Constraints. All tests are such that N = 1000.
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